? (A 370)

B
™
i
o

A
BK

;0._
Hlo
il
Nfo

op

oM

Al

1 1
§+a27+b
--a>--b

@

®a-3>b-3

® -a+3>-b+3

3

3

® 3a-1>3b-1



2.

[e)

152

a<b QU o2 F &4

rlo

227

© 40 <4

@ a-5<b5
® -3a>-3b @ 2 —1<2%-1
® -2a+3<-2b+3



3. x<49u, -2x+19 o HY=?

O -2x+1<-7 @ -2x+1>-7 ® -2x+1<7

@ -2x+1>7 ® —2x+1<7



4. x<4 9 W, -2x+1 9 o HY=?

O -2x+1<-7 @ -2x+1>-7 ® -2x+1<7

@ -2x+1>7 ® 2+1<7



ol
BN
A

14
70



6. AVt Reasd ), ohe F Al sigste A2?

51

141592 - - - _

O 3 2759 @) 150
® @ 0.512512512---

232><32
© 5



|
10 |

® 620

@ 63

® 60

@ 6362

O 636



8. Us 3 <®uidE vt 23 227

D 0.1232323---, 123 @ 1.351351---, 135
® 2.573573---, 57 @ 3.461461---, 4614

® 10.462462--- , 462



14-1

® 14 =

37
999
123
900

@ 0.037
® 0.123



6 = Aml A A= 1
e = LB ALE B
7219

@ 0.403 =

® 2518 =

403 - 2

99
2518 — 25

990




11. 3a%h? = (-4a2b?)? x (2ab®)3 2 AAFSHH?

3 8 3 8 3
e e Zab ~Zab ~Za?
@® 3 @ 3 ® 4 @ 34 ® g



12, ohe [ ko] 47h uhmA) vl b shubs?

1
@ a"xa*=4d" @a?’+aﬁz—D
2\? db ¢

@ {?} :b? @GSX(—0)4+QDZQ4

@ (aEI)4 +aG — a2



13.

x=3a—-4b-7, y=-2a+bQ W, T+ A 2x-3y+ 45 a, bl
oz g ehd 227

® -5b-10 @ -11b-10

@ 12a-5b-3 ® 12a-7p-3

-
-

® 12a-11b-10

s



14.

S oA A, Bl 5t A = —a+3b, B = 2a—4b + ¢ 4 U,

2

(A+B) - (A+B) S a, b, c ol T3 A o=2 ehys?

D a-b+c @ 10b-c¢ ® 5a—-9b+ 3¢

@ 1la-9b-c¢ ® 9a-11b+c¢



15, 4x-3y+2 =5x-6y+ 3% W, 2x- 9y + 58 yol B Ao
R w2

®_3)’+3 @ -T7x-4 ®_3y_3

@ Tx-4 ® Tx+4



16. x-2y=2x+3y-1 < W, H=<y ol B Aoz Lepd 2127

3x+5y -2

@ -10y @ 10y @ 10y+1

@ 10y-1 ® -10y+1



17.

BEA2x+1)-3x<4(x-2)= EH?

@D x=>-2 @ x<-2
@ x>2 ® x>2

® x<2



8—2(x+3) < 3(x—2) & WETH x 0] G B AP AL






20. ‘11:—1]'%_/!\‘"’!, l’loﬂ EH%]-Oq m‘”=4M—3nEPl@91§-EH’E}%€_/\-V§-
ol Al xa3y = 6a(-2) 2l A7

@ (2, 1) @ (-1, 3) ® (0, 4)
@ (3, -2) ® (4, -2



21.

(82)0 + (<02 = 2 P+ ()2 =
y

T2 W, g+ b+ c Y GF2?

O 3 @ 6 ® 9



644 + 85

22.

@ 2° ® 210 @ 21 ® 22

O 28



@0



]_

® 9



